

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Lakeshore North

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,720.00	\$6,880.00
2	Stewardship Visits - 2027	4	EA	\$1,720.00	\$6,880.00
3	Stewardship Visits - 2028	4	EA	\$1,720.00	\$6,880.00
4	Stewardship Visits - 2029	4	EA	\$1,720.00	\$6,880.00
<b>TOTAL</b>					<b>\$27,520.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$3,388.08	\$3,388.08
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$36,108.08</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd.

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Wedgewood Commons

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,720.00	\$6,880.00
2	Stewardship Visits - 2027	4	EA	\$1,720.00	\$6,880.00
3	Stewardship Visits - 2028	4	EA	\$1,720.00	\$6,880.00
4	Stewardship Visits - 2029	4	EA	\$1,720.00	\$6,880.00
<b>TOTAL</b>					<b>\$27,520.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$3,772.35	\$3,772.35
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$36,492.35</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Sunny Pine

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$2,280.33	\$2,280.33
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$28,200.33</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

**Village of Orland Park****2026-2029 Pond Shoreline Stewardship  
Proposal Sheet****ORLAND PARK****Pond:** 87th Ave**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

**Additional Alternates (to be included at Owner's discretion)**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,555.28	\$1,555.28
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$27,475.28</b>

**Authorization & Signature****Company Name:** Pizzo & Associates, Ltd**Name of Authorized Signee:** Brian Scapardine**Signature of Authorized Signee:** Brian Scapardine**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

Pond: 88th Ave

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,720.00	\$6,880.00
2	Stewardship Visits - 2027	4	EA	\$1,720.00	\$6,880.00
3	Stewardship Visits - 2028	4	EA	\$1,720.00	\$6,880.00
4	Stewardship Visits - 2029	4	EA	\$1,720.00	\$6,880.00
<b>TOTAL</b>					<b>\$27,520.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$3,358.31	\$3,358.31
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$36,078.31</b>

#### Authorization & Signature

Company Name: Pizzo & Associates, Ltd

Name of Authorized Signee: Brian Scapardine

Signature of Authorized Signee: Brian Scapardine

Title: Southern Territory Manager

**Village of Orland Park****2026-2029 Pond Shoreline Stewardship  
Proposal Sheet****ORLAND PARK****Pond:** Tallgrass**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,720.00	\$6,880.00
2	Stewardship Visits - 2027	4	EA	\$1,720.00	\$6,880.00
3	Stewardship Visits - 2028	4	EA	\$1,720.00	\$6,880.00
4	Stewardship Visits - 2029	4	EA	\$1,720.00	\$6,880.00
<b>TOTAL</b>					<b>\$27,520.00</b>

**Additional Alternates (to be included at Owner's discretion)**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$3,324.83	\$3,324.83
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$36,044.83</b>

**Authorization & Signature****Company Name:** Pizzo & Associates, Ltd**Name of Authorized Signee:** Brian Scapardine**Signature of Authorized Signee:** Brian Scapardine**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Legend Trail

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,960.19	\$1,960.19
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$27,880.19</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Persimmon Meadow

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$830.22	\$830.22
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$26,750.22</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Creek Crossing

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$2,344.38	\$2,344.38
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$28,264.38</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Long Run Creek

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,720.00	\$6,880.00
2	Stewardship Visits - 2027	4	EA	\$1,720.00	\$6,880.00
3	Stewardship Visits - 2028	4	EA	\$1,720.00	\$6,880.00
4	Stewardship Visits - 2029	4	EA	\$1,720.00	\$6,880.00
<b>TOTAL</b>					<b>\$27,520.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$3,358.31	\$3,358.31
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$36,078.31</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Preston Pond

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$2,096.77	\$2,096.77
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$28,016.77</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Greystone Ridge

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,720.00	\$6,880.00
2	Stewardship Visits - 2027	4	EA	\$1,720.00	\$6,880.00
3	Stewardship Visits - 2028	4	EA	\$1,720.00	\$6,880.00
4	Stewardship Visits - 2029	4	EA	\$1,720.00	\$6,880.00
<b>TOTAL</b>					<b>\$27,520.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$5,716.77	\$5,716.77
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$38,436.77</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Royal Oaks

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,448.54	\$1,448.54
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$27,368.54</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

**Village of Orland Park****2026-2029 Pond Shoreline Stewardship  
Proposal Sheet****ORLAND PARK****Pond:** Colonades**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

**Additional Alternates (to be included at Owner's discretion)**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,683.37	\$1,683.37
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$27,603.37</b>

**Authorization & Signature****Company Name:** Pizzo & Associates, Ltd.**Name of Authorized Signee:** Brian Scapardine**Signature of Authorized Signee:** Brian Scapardine**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Plum Tree

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,341.80	\$1,341.80
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$27,261.80</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd.

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Orlan Brook East

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,085.62	\$1,085.62
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$27,005.62</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd.

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Park Hill 1

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,720.00	\$6,880.00
2	Stewardship Visits - 2027	4	EA	\$1,720.00	\$6,880.00
3	Stewardship Visits - 2028	4	EA	\$1,720.00	\$6,880.00
4	Stewardship Visits - 2029	4	EA	\$1,720.00	\$6,880.00
<b>TOTAL</b>					<b>\$27,520.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$6,863.13	\$6,863.13
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$39,583.13</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd.

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Park Hill 3

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,720.00	\$6,880.00
2	Stewardship Visits - 2027	4	EA	\$1,720.00	\$6,880.00
3	Stewardship Visits - 2028	4	EA	\$1,720.00	\$6,880.00
4	Stewardship Visits - 2029	4	EA	\$1,720.00	\$6,880.00
<b>TOTAL</b>					<b>\$27,520.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$4,475.27	\$4,475.27
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$37,195.27</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd.

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Helen Pond

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,555.28	\$1,555.28
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$27,475.28</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd.

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Equestrian Trail East

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,341.80	\$1,341.80
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$27,261.80</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd.

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

**Village of Orland Park****2026-2029 Pond Shoreline Stewardship  
Proposal Sheet****ORLAND PARK****Pond:** Spring Creek**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

**Additional Alternates (to be included at Owner's discretion)**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,427.79	\$1,427.79
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$27,347.79</b>

**Authorization & Signature****Company Name:** Pizzo & Associates, Ltd.**Name of Authorized Signee:** Brian Scapardine**Signature of Authorized Signee:** Brian Scapardine**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Beemsterboer

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,384.89	\$1,384.89
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$27,304.89</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd.

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Anthony Pond

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,555.28	\$1,555.28
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$27,475.28</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd.

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Yearling Crossing

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,491.23	\$1,491.23
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$27,411.23</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd.

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

**Village of Orland Park****2026-2029 Pond Shoreline Stewardship  
Proposal Sheet****ORLAND PARK****Pond:** Great Egret**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

**Additional Alternates (to be included at Owner's discretion)**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$2,088.20	\$2,088.20
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$28,008.20</b>

**Authorization & Signature****Company Name:** Pizzo & Associates, Ltd.**Name of Authorized Signee:** Brian Scapardine**Signature of Authorized Signee:** Brian Scapardine**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Laurel Hills

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$4,397.64	\$4,397.64
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$30,317.64</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd.

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Emerald North

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,427.19	\$1,427.19
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$27,347.19</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd.

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

**Village of Orland Park****2026-2029 Pond Shoreline Stewardship  
Proposal Sheet****ORLAND PARK****Pond:** Fawn Trail**Base Proposal**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

**Additional Alternates (to be included at Owner's discretion)**

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$2,512.81	\$2,512.81
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$28,432.81</b>

**Authorization & Signature****Company Name:** Pizzo & Associates, Ltd.**Name of Authorized Signee:** Brian Scapardine**Signature of Authorized Signee:** Brian Scapardine**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Capistrano North

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,295.00	\$5,180.00
2	Stewardship Visits - 2027	4	EA	\$1,295.00	\$5,180.00
3	Stewardship Visits - 2028	4	EA	\$1,295.00	\$5,180.00
4	Stewardship Visits - 2029	4	EA	\$1,295.00	\$5,180.00
<b>TOTAL</b>					<b>\$20,720.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$1,427.19	\$1,427.19
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$27,347.19</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd.

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager

## Village of Orland Park

### 2026-2029 Pond Shoreline Stewardship Proposal Sheet



# ORLAND PARK

**Pond:** Deer Chase Estates

#### Base Proposal

Item	Item Description	Quantity	Unit	Unit Price	Total Price
1	Stewardship Visits - 2026	4	EA	\$1,720.00	\$6,880.00
2	Stewardship Visits - 2027	4	EA	\$1,720.00	\$6,880.00
3	Stewardship Visits - 2028	4	EA	\$1,720.00	\$6,880.00
4	Stewardship Visits - 2029	4	EA	\$1,720.00	\$6,880.00
<b>TOTAL</b>					<b>\$27,520.00</b>

#### Additional Alternates (to be included at Owner's discretion)

Item	Item Description	Quantity	Unit	Unit Price	Total Price
Alt. 1	Supplemental Seeding	1	LS	\$4,048.31	\$4,048.31
Alt. 2	Prescribed Burn	1	LS	\$5,200.00	\$5,200.00
<b>TOTAL PLUS ALTERNATES</b>					<b>\$36,768.31</b>

#### Authorization & Signature

**Company Name:** Pizzo & Associates, Ltd.

**Name of Authorized Signee:** Brian Scapardine

**Signature of Authorized Signee:** Brian Scapardine

**Title:** Southern Territory Manager